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Summary of key points e
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© In the general form
yemete

where m is the gradient and (0, ) s the intercept on
the y-axis.

© In the general form
ax+by+c=0,
where a, b and ¢ are integers.
You can work out the gradient i of the line joining the

point with coordinates (x,,y1) to the point with
coordinates (x;,y,) by using the formula
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You can find the equation of a line with gradient m
that passes through the point with coordinates (x;,y,)
by using the formula

¥y = mlx - x)
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4 You can find the equation of the line that passes
through the points with coordinates
(x,,91) and (x,,y,) by using the formula
Y=y X=X
Y= XX

5 Ifaline has a gradient m, a line perpendicular to it has

a gradient of .
m

6 If two lines are perpendicular, the product of their
gradients is —1.
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